BREETRFOMNERERER GHRIEXL 1 —L4) 1/4

RERE | FRRTESB1H () ~Fr2TE8H31H (B) (BQT = A\ 9bb/kg)
E=31 ] — o = ®&EH . wHERERES T
(IEEES 5V BB LT AHHET 27H (K) IS 15.0
I EES 5V BB R Rk 18H (X) T 15.0
EIEES mY N N 108 (B) g 10.7
EES THTX BB LT AHRET 138 (°K) g 9.6
S EES THTX BB LT AHRET 148 (£) IS 7.8
[AEES TAHYX BB EHATET L 5H (k) T 9.9
EES THTX L= HET 4H (N) IS 9.9
8 [BE THTX L= HET 7H(£) IS 11.8
I EES *05 BB LI T AHET 5H (k) IS 11.9
NEES F0> N N 108 (B) IS 8.9
EES ARF+ LU 26H (7K) A& 7.1
IFEES ARF+ LU 26H (7K) A& 7.4
13 |5E ARF+ BILUHZEEATFRE [ 18H(N) A& 9.6
IEES ARF+ BLUHHEIZTE| 4HCN) A& 10.5
(FEES ARF+ LR EET P L LH(N) A& 8.2
16 |FFE ARF+ BB LT AHRET 118 (N) A& 6.8
17 [$93% ARF+ BB LT AHRET 21H(2) A& 7.5
[FIEES ARF+ BB LT AHRET 31H(8) A& 8.3
19 |5FE ARF BB LT AHRET 31H(8) A& 7.4
20 [FFx ARF+ EBILUMmEAHBIEHRE| 3H(A) A& 9.4
21 |HE ARF+ EBIUMEAHBIEMRE| 4H(CN) A& 11.6
EES ARF+ LU =1 4H(N) A& 9.9
23 |HE ARF I =E=] 27H (K) A& 21.6
Y EES ARF+ I =E=] 27H (K) A& 10.9
25 [Fp% HRF+ ELTHNEIARSE [21H(E) L 10.2
26 |FFE ARF+ EIUHHNBEIEE | 195 0K) A& 9.5
EES ARF+ LT HRATEIR S K| 5H (k) A& 5.5
I EEES HRF+ BB LT EHATET#RLLI4E | 20H (K) L 6.2
29 |FFE ARF+ LTI | 28H (&) A& 5.2
30 |FFE ARF 8L = HET 6H (K) A& 7.0
B EEES ARF 8L HAOERET 17H(8) A& 7.3
E I ESES ARF BLUHHAMERESE]| 5H0K) A& 10.2
33 [Fx HRF+ HA™ 1MH(N) L 14.9
EAEES HRF+ HA™ 25H (X) T 8.0
35 [Fp% FrRY EBLLI T AHET 31H(B) L 7.6
36 |FFE a1l BT E AT Z HEF | 13H (K) A& 9.4
37 |FE Fa1ol EBLLI T AHET 24H(B) L 9.6
38 [Bf=% Faol BB LT ARET 5H (7k) AR 1.7
39 [Fp% Faiol G =E=1:0] TH(®) L 7.3
NEES Faiol EILUHENBTEE [ 11HCR) L 7.6
NREES Faiol ESLLUTHAMETSFLL [ 10H((B) L 8.6
42 B Faiol BRI L =fEHE])IIH]| 21H (&) T 8.9
EIEES Fa1ol FZEmh 198 (7k) AR 8.5
[ EEES Fa1ol FHA R/ \NEFH]T 24H(H) A& 9.1
EES Faiol HA™ 3H(B) T 8.4
T EES g4 BB LT AHRET 18H () A& 13.2
N ES d—+ S = ERT L 4B (N) T 16.7
B ES d—+ BB LT AHRET 18H (X) IS 9.3
B ES d—+ BB LT AHHET 20H (K) IS 13.9
50 [BF% d—+ LT E A LLET 25H (N) IS 9.9
51 |93 d—+ B L =[] IIH | 21H(£) IS 9.2
52 |BFE J—% LU =FHETSH| 4HN) A& 8.5
B ES d— N /N 3H(A) IS 14.1
AEES YY1 E (F) [BRLLHAMRE] 17H(B) L 10.3
55 |HF3E Y15y |BIUmTET 12H (7k) A& 8.7
56 |EF3E JvHAE LU 6H (K) A& 3.4
57 ¥ I AL E I 25H (X) L 10.5
B ES JvHAE B LLmhZ 150 20H (K) IS 7.9
59 |FFE JvHAE BT EIE 12H (7k) A& 7.1
60 [ I A1 E L= iERT ]| 6H (K) L 7.5
61 [Fx I A1 E ESLL T EERT L 4B (N) L 12.1
62 | JvHAE LR EET P L 4H(N) A& 7.4
63 [FFE I A1 E EBLLI T AHIET 3H(B) L 8.2
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BRHEETEFOMGEREER GEREXLF1—L4) 2/4
RERE | FRRTESB1H () ~Fr2TE8H31H (B) (BQT = A\ 9bb/kg)
E=31 ] — o = ®&EH . wHERERES T
64 [BFx Jv A E BB LT AHRET 108 (B) IS 7.0
65 [FFE JvHAE BB LT AHRET 18H (N) IS 9.5
66 | JvHAE EBIUMEARHBIEMRE| 4H(CN) A& 6.2
67 |[Bx I A1E L AT BT X | 126 (k) T 6.2
68 [FFE I A1 E ELLhEEEIE 6H (&) IS 11.1
69 [FFE I A1 E ELLhEEEIE 6H (&) T 10.1
[EEES JvHAE £8LLh HF0 BT 6H (K) A& 6.2
NEEES JvH1E 811 H A0 BT 6H (K) A& 5.7
EES JvHAE 8L HAOEET 118 (X) IS 9.4
EEES JvHAE 8L HAOEET 138 (°K) IS 6.3
74 |5E JvHAE BLUHHAMERESE]| 5H0K) A& 6.3
75 |BFE JvHAE a8)lm 11 (X) IS 8.7
EES JvHAE FHA R/ \NEFH]T TH(2) A& 7.7
I EES I A1 E HA™ 1MH(N) T 8.9
B ES I AL E NEBR AR 24H(B) T 10.4
EEES I HAE SR | T 6H (&) L 9.9
80 [Fx I HAE SR Em T 6H (&) L 9.5
81 |¥¥E JvHAE B8 EB R ea 1CHT 6H (K) A& 9.5
Y ES 2147 BRI ARE [ 18H(CN) L 5.8
83 [Hx 2147 EBLLI T AHET TH(®) L 7.4
84 B A1h BB LT AHRET 20H (K) A& 5.6
85 |[Bx A1h £81Lh H A0 BT 6H (K) A& 7.1
86 |[FFx A1h LU =FEHETI|H| 218 (&) A& 7.3
87 |[Fx A1h LU =FHETSH| 4HN) A& 5.8
88 |[Fx A1h FHA R/ \NEFHT 24H(8) A& 10.0
89 [Bx 2147 HA™ 28H (£) L 6.1
FEES AyvF—= EBLLUMmEALBINALE| 6H(K) A& 7.7
91 [%E VoXVARF v |[ESILTHINA 2| 24H(8) L 9.7
92 [Hx HIZF AlllEA) BT 17H(B) T 8.6
93 [Hx N ZF BB LR 6H (K) A& 9.1
94 [ N ZF BLUHHAMERESE]| 5H0K) A& 9.7
95 |[Hx N ZF FHA R/ \NEFH]T TH(2) A& 7.4
96 [ KOASY 8L R Rk 10H(B) L 14 .4
97 [¥E NEE =P ENG 5H (7k) IS 6.5
98 [Hfx NUEO3OY [BRLLTAHEE] 7H(£) IS 8.9
99 [Hx rUEO3OY  [ESLLUTEARL 7H(£) IS 8.4
100 |[¥F=¢ rOEOOY (BIUMEAHEIERER| 4HCN) A& 10.7
101 |[BF FoEODIY | EANETLLAE 5H (7k) A& 7.1
102 |[BF FoEO3IY BRI EHE]T 4H (N) A& 9.8
103 [¥¥3% K<Yk BRI AFRE [ 18H(CN) L 10.1
104 |[BF¢ ~Y B LT 2 EET 4H (N) A& 6.8
105 [Bp2 kY bk LU ERRT S HE | 13H (OR) T 9.6
(B ES K<Yk BB LI T AHET 24H(B) L 8.5
107 |[BF ~Y b EBILUHmEAHRHEEA | 10H(8) A& 7.3
108 ¥ K<Yk EBLLIThE RIS 18H (X) T 10.7
109 [F2 kY bk ELTHNEIARSE [21H(E) T 8.7
110 [ Yk EILUTHHENBTEE [ 11HCR) T 9.3
1M1 |[Bx ~Y 8L AT AT LA 5H (7K) A& 7.9
112 |BFx ~Y b 8L HAOERET 6H (K) A& 4.9
113 [ ~Y b LT =FHETIIH| 218 (&) A& 6.8
14 B ~Y b FHA R/ \NEFHT 24H(8) A& 10.3
115 [|$§3% K<Yk HA™ 3H(B) T 7.5
116 [¥FE K<Yk —AATH 3H(B) L 10.1
117 [Hx X+ AlllEA) BT 17H(B) L 16.0
118 [ F A AlllEA) BT 17H(B) L 9.4
119 [$F% + X BT EIE 12H (7k) A& 8.4
120 [B2 F A BLUmh B4R [ 18H(CN) L 9.4
121 |¥93% + X LT 2 EET 4H (N) A& 9.8
122 |%E F A EBLLI T AHET TH(Z) L 9.8
123 |$% + 22 BB LT AHRET 118 (X) e 9.1
124 |93 + X BB LT AHRET 20H (K) A& 1.4
125 [ F A EBLLI T AHET 248 (8) e 13.1
126 B2 F A BT FHATET /M 7H(&) e 12.0
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BRHEETEFOMGEREER GEREXLF1—L4) 3/4
RERE | FRRTESB1H () ~Fr2TE8H31H (B) (BQT = A\ 9bb/kg)
E=31 ] — o = ®&EH . wHERERES T
127 |¥93% + X 8L AT BT L5 5H (7K) A& 10.5
128 |[BF¢ + X LU HAOERET#)R | 12H (k) A& 12.0
129 [BF + X BLUHHAMRETSE]| 5H0K) A& 9.1
130 [ F A BRI L =fEHHAE])IIH ]| 21H (&) T 9.5
131 |99 + X FZEmh 198 (7K) A& 8.9
132 8% + 22 FEm 24H(B) IS 9.8
133 [H=x =P EBLLI T AHET 11H (N) IS 7.3
(EEES —IY 8L R Rk 18H (X) T 9.8
135 [Bp2 —V= BRI E R mT 6H (&) IS 10.2
136 ¥ —V= LT EHATET 20H (K) IS 13.7
137 |93 V=7 811 HF0 BT 128 (7K) A& 7.8
138 [ E—xV SRESRRAT 11H (N) IS 14.2
139 [ EF—<> B Z=iE 12H (7k) T 17.5
140 [B2 EF—<> G =E=1:0] 10H(B) T 8.3
141 |99 Sl d SRR 118 (N) A& 8.4
142 |93 Sl d BT ZIERT 45 5H (7K) A& 8.3
143 [Hx =S=KkY bk BRI AR | 25H(CN) L 10.2
144 B3R SRV BB LT AHRET 148 (£) IS 10.6
145 [ =S=kY bk EBLLI T AHET 27TH (K) L 8.6
146 |BF¢ Sl Sd EBILUMmEAHBIEHRE| 3H(A) A& 9.0
147 [B ="KV K LU =FEMHA])IIH| 215 (&) IS 8.5
148 | ="KV K HA™ 17H(B) L 8.8
149 ¥ ="KV K —AATH 3H(B) L 6.9
150 [Bp2 =374 SEEIT 3H(B) L 9.8
151 %% =37A EBLLI T AHET 3H(B) L 8.8
152 |8 SEPE: BB LT AHRET 178 (B) IS 10.2
153 [$¥% SEPE: BB LT AHRET 18H (X) IS 8.4
154 |%F% =374 EBLLI T AHET 20H (K) L 1.7
155 [Bp2 =374 EBLLI T AHET 24H(B) T 9.5
156 |[B¥e =374 EBLLI T AHIET 24H(B) T 9.6
157 %% =394 EBLLI T AHIET 27H (K) IS 10.8
158 [Bp2 =374 EBLLI T AHET 28H (£) L 11.9
159 [F2 =3JA BB LT EHATET#RLLI4E | 20H (R) IS 11.7
[HEES XOY 8L EERT L 4H (N) IS 1.4
161 [ XOYV LU =FEHA])IIH| 215 (&) IS 11.3
162 |k Gipk. B=k=) |FFRIK R LT AHRET 17H(R) AR 8.0
163 [k GtAk. B=kz) [[EK HA ™ 118 (X) A& 7.9
THNERERR 1PEEL EBILUHENEIEE | 20H(K) 124.7 11.7
165 [ILZE - =D FE|=3UA BT E R 2 H % | 28H (£) IS 10.4
166 |BN%E ElF =iRE 3H(A) IS 4.2
167 [R=E ONT KD BB LT AHRET 11H(N) A& 9.9
168 |R=E ONT KD LT =1EHATE R | 28H (£) A& 10.3
169 [R=E 7 EBLLI T AHET 24H(B) L 7.7
170 |R=E 7 BT EHATET A i | 27TH (K) T 8.4
171 [B=E 7 L= HET 68 (K) T 5.3
172 |R=E < BT =FEEE]T 25H (N) IS 13.9
173 |R=E 7 EBLLTh =#E AT 26H (7k) T 8.2
174 [EBE 7 FEE 1MH(N) T 7.3
175 [ER=E Ny )LD — [ BLLmEREETZHE [ 27H (CK) IS 9.0
176 [FR=E JRD LT EH 24H(B) IS 11.2
177 [R=E JRD LT PREHBTRAERH | 24H(B) IS 9.8
178 [B= 75y oY — [T 18H (N) T 10.0
179 [B= JIL—~U— BT AHEE] 3H(B) L 8.8
180 [E= JIL—U— BT AHEE] 27TH (K) L 9.7
181 [R=E JI—RD—  |EBIUHmEARBIERERE| 245 (8) A& 10.4
182 |R=E L=~ — B8 LT HFA0EE] TH(®) L 10.3
183 |R=E TIL—V BB LT AHRET 316 (B) IS 7.7
184 |R=E TE FEm 108 (B) IS 7.9
185 [ER=E TE FEm 20H (K) e 8.8
186 |R=E Yy 3 ELLh = HET 28H (£) L 14.6
187 [Zofth Tvrvoey (g8 |BBLLMAmEI/NE | 24H(B) e 6.9
188 [Zofth B BUmEREITEY [17HA) 35.8 5.6
189 [Zofth B LU EANETERI] 31H(8) 13.7 4.6
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BREETRFOMNERERER GHRIEXL 1 —L4)
REHE : FRRTF8H1H (L) ~Fri21E8831H (H)

Wk
(B4 1 A*9Ll/kg)

3. E— - . S — BERFESE

g | A7V fE RS (85) £79k136+137 (£794134+137)

190 [Zfid Bt BRLL T HA0FHET 13H(K) MR 4.2
191 [Zofd BT BER 1065 (H) AR 9.3
192 [Zofth bE (RDFE) |[FEmh 24H(B) AR 7.4
193 [Z Atk O—X~¥U— [BLLhHF0HE] 24H(B) AR 12.3
194 [H26FEDARIEER K (HXK) BRI TET | 218 (&) AR 4.8
195 [H26FEDARIEEAR [K (HXK) BRI/ R 12H (k) AR 8.1
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